FE2RIEAART A -1 7 EREREEE B IOV FiER

6H20H 6H21H
waem2
INEE BF
[ 34kg #R]
EIRER (BRE/N)
WP 0—3
fRIEB A CREHE/N)
TKO R2
Bz (EBEN)
[ 38kg #R]
=MHE(FAEEN
TKO R3 1:26
{REEER(BHK/N)
WP 2—1
BFCE(CEER/N
[ 42kg #R]
= SIE.
EFRE(EFATI
[ 46 kg #R]

hHE E(FREN)

TRiEe A GREETN)

FEREX(BKMN)

ESRE(SHBE)

mH [E(FRmEMN)



hyt BF

[ 36kg

[ 40kg

[ 44kg

[ 48kg

[ 52kg

[ 56kg

%]

A @EA)

TKO R1

EFESELtEE—P

#®1]
IS (FHE

§1)
ITHRERARER

TKO R2 0:51

&)
REZFRO(EHEH)

WP 3—0

%]

= #EEH)

SEEMARIA(/ \ I )

WP 3—0

%]

E2HEAGEEF
NI BEEREH)

TKO R3

TKO

B BAKECH)

R3 0:44

WP 3—0

IMENN R (HEH )
#®1]

fg ik T (FRiEd)

hEHACMRH)

TKO R2 0:39

IS (FRH)

WP 3—0

%]

FHEEAGEED)

EFESEtEE—p)

REFRLEBAEFH)

NI EFERD)

B ILEE(FR$)



INEE L7 Bewmy

[ 42kg #R]
KIS FHAEJII) i KIS FFHE NN
[ 46ke #&]
IESICS 2 P ETE LD
higs KT
[ 44keg #R]
NIt il IS G 0
[ 52kg #&]

S
Iy

KA IR A S REERD)




